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728,917 + 165,901 =
659.17 — 290.48 =

274 x 8 =

67.33+10=
67.33 x 1,000 =
70x4 =
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Early Bird Maths — Daily practice o

Here are the next 5 days for your Early bird
maths in your new pack.

Complete one set of questions a day,
writing your answers directly onto the
sheet. For many of the questions you will
need to complete some calculations i.e
column addition, bus stop method etc.
There are several sheets of squared paper
included in the pack for you to complete
your methods of calculation on.

=% Daily Practice — 13

528,916 + 217,505 =

528.6 —280.4 =

378 x3 =

2,404 + 4 =

12,1
7 7

109 + 1,000 =

109 x 100 =

11 x90

\ Daily Practice — 14

567.7 + 281.09 =
3,819—2,162 =
928 x 6 =

1,894 + 2 =
9 1
— 4+) — =
10 10
6.901 x 100 =
6.901 + 100 =

-4+6=

ik Daily Practice — 12

381.06 + 269.16 =
5,681 — 2,949 =
953 x7 =

891+ 3 =

N ES

3 3

167 x 10 =
167 = 100 =

4x120

% Daily Practice — 15

672,911 + 458,519 =
307.14-249.8 =
456 x 3 =
78,96 +5 =
12+21=

5 75
132.9 + 1000 =

132.9 x 1,000 =
7+-5=




\ Daily Practice — 16

429.8 + 392.97 =
65.29 —32.71 =
725 x 7 =

9,612 +3=
2

4 2
1.908 x 1,000 =

1.908 + 10 =
5-9=

o
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Here are the next 5 days for your Early bird
maths.

Early Bird Maths — Daily practice

As before, complete one set of questions a
day, writing your answers directly onto the
sheet. For many of the questions you will
need to complete some calculations i.e
column addition, bust stop method eftc.
There are several sheets of squared paper
included in the pack for you to complete
your methods of calculation on.

St

5% Daily Practice — 18

741.6 + 971.87 =
12,891 — 2,567 =
135 x 8 =

8,631 +3=
1

5 10
12.087 x 10 =
12.087+ 100 =

2-8=

2% Daily Practice — 19

479.109 + 510.91 =
789.12-491.7 =
739 x7 =

2,964 + 6 =

784.1+ 1,000 =
784.1 x 100
1-2=

% Daily Practice — 17

49,753 + 19,473 =
719.01-278.49 =
532x9=

8,906 +7 =
3

10 100

134.98 + 10 =
134.98 x 100=

-6+10 =

%L Daily Practice — 20

7
7820

109.871 + 659.62 =

5,891 -3,876 =
254 x6 =

6,185 +9 =
1

2 12
3.071+100=
3.071 x 1,000 =

4-9=
















